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LCM: - A common multiple is a number that is a 4) 62,186,279
multiple of two or more number. The common Al b) 34
multiple of 3 and 4 are 0,2,24..... c) 54 d) 45
The “least common multiple (LCM)” of two number Note: - Solving HCF
is the smallest number (not zero) that is a multiple 1) Divide the larger number by smaller one to
of both. obtain remainder.
2) If the remainder is zero, the divisor is the
LOM gt required HCF.
1) 4,8,12 : : .
3) If not, then take this remainder as a divisor and
a) gg 3) 32 the first divisor as the dividend.
) ) 4) Repeat the process till zero is obtained as a
2) 10,20, 30 remainder the last divisor is required HCF.
a) 67 b) 63 Some important results: -
& 60 t) 65 1) HCF x LCM = Product of the numbers.
__ Product of the numbers
3) 24,32,48 Z) | LeM = e
a) 94 b) 92 3) HCF of fractions = L;’;Fffd’:;mml:i‘;
C) 96 d) 2 . LCM of numerators
4) LCM of fractions = .
HCF of denominators
4) 12,15,20
; 2 8 16 10
a) 60 b) 80 1. Find HCF and LCM of 2,2, —and —
c) £° g >0 a) HCF of fraction = %
HCF (G.C.D): - LCM of fraction = %
The largest number that is a factor a whole number b) HCF of fraction = 7
that divides exactly into another number with no -
remainder of all the numbers you are finding the LCM of fraction = —
HCF. c) HCF of fraction = =
1) Find the HCF of 24, 36, B
a) 17 b) 12 LCM of fraction = -y
0 13 d) 18 d) HCF of fraction = —
. LCM of fraction = 2
2) Find HCF of 1782, 420 3
a) 7 b)9 _
O 4 d)6 2. Find the HCF and LCM of 0.63, 1.05, & 2.1
a) HCF=0.11,LCM =6.10
5 1097015 e
a) 1157 b)1571 cql) HCF : 0-91, LCM : 6.50
c) 1657 d) 1675 ) Elliie o
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Model 1 Find HCF TR 2-e080h Jos v MHEvY 2160 DB V)Y

1) Find the greatest possible length which can be H.CF. 12. S033 30&%ﬁqm B0 HBLO?
used to measure exactly lengths 4m 95cm, 9m and &
16m &5 em. a) (60, 72) b) (72, 30)
Q20mA 4m 95cm, Im ) 16m 65cm VB, 6) (126 0E N a RO
vYobey WYINBTD Te7 Joyadedd VZBI, 6) 84 Maths books, 90 Physics books and 120
B0RBAMD. Chemistry boo.ks must be.stacked topic-wise. How
many books will be there in each stack so that each
a) 45 b) 46 stack will have the same height too?
) 44 d) 47 84 N33 BTBRW, 90 PBzIRY, VIS DR 120
2) Determine the largest tope which can be used to CRRabRzel, PIJBMYRY IR BedITedD.
measure exactly the length of 7m, 3m 85cm and 338 TEFRO oR) VIBAW VW3S sz0T 3,3
12m 95 cm. i b °
7m, 3m 85cm &b 12m 95 om evgay dwdaeh 030 © SZ0FR wouk SN
evohes wYRRRTE BAg 59a er) AFFOI. 92l b8 gz d)é
a) 54 b) 36 7) Let N be the greatest number that will divide
c) 35 d) 45 1305, 4665 and 6905 leaving the same remainder in
each case. Then, sum of the digitsin N is:
3) Find the greatest number which can on dividing 305, 4665 =3 6905 egaiz( AP cifa;é ajoaizs N

1657 and 2037 leaves remainder 6 and 5
respectively.

sN3Y, B3 JodyPrEdae e TeRID, VDIT.

1657 @) 2037 =) 2oNdwert obhgehaen evea 6 0383, N 3OS e08nv Sea:
DR 5 o IWoDoed BYSI 30355033732( a)8 b)5 o4 d)6
BomHBAD. 8) There are 24 peaches, 36 apricots and 60 bananas
a) 125 b) 127 and they have to be arranged in several rows in such
c) 123 d) 122 a way that every row contains the same number of
fruits of only one type. What is the minimum number
4) Find the largest number which divides 445, 572 of rows required for this to happen ?
and 699 leaving remainders 4, 5, 6 respectively. 24 dexxrid, 36 c‘ac?ba‘aaa‘ﬁ%b D) 60 W¥BEVNRWD RS
SRS det Voal,ab SombAMO, B3 OO wode Bedab Bewniw  wode
) 68 B) 6% Be3NDHBT. 2D RoPIRL VNS IDS 83
c) 62 d) 65 = 3 2
Rosdab Toewriwd om,?
5) The product of two 2-digit numbers is 2160 and a)6 b)9 )12 d)10

their H.C.F. is 12. The numbers are
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9) A milk vendor has 21 liters of cow milk, 42 liters
of toned milk and 63 liters of double toned milk. If he
wants to pack them in cans so that each can contains
same liters of milk and does not want to mix any two
kinds of milk in a can, then the least number of cans
required is

T WOTAEMIBAN 21 Oet30® BAIS Toew, 42

Dee30° edery Toew D) 63 Oee30f BWwer edpey Foww
QAT. T ead)rivaig( aéa‘ﬁvém mzss‘ AVPIR{S))
wATY B8 FYURTO wode Jeest’ Foww WS
D) WFTe 28D dedad moaig( azsa‘aie'g JI3Zew
WAHIBDZT, 87 Fosiad YR N Wesrh3as

a)l2 b)6e 3 d)9

10) In a school, 391 boys and 323 girls have been
divided into the largest possible equal classes, so

that each class of boys numbers the same as each
class of girls. What is the number of classes ?

20T Zoahd, 391 BT &) 323 RDTDNDI,
DB @BR), Weg IR SrieriweN dondJwend,
330038 B8 InFd BDRDNRD & SnFd NS
Sossrt ISreIHNDBH. BTSNV Josl; aad)?

a)17 b)19 ¢)23 d)44

11) Find the largest number which divides 62, 132
and 237 to leaves the same remainder in each case.

3,803p0TD ®,800BR 20003¢ a’easdag DBew 62,132
DR 237 o APBDB el E5083601)K§(
B0 HRADD.

a) 37
c) 35

b) 36
d) 32

12) Find the greatest number that divide 87,143 and
227 so as to leave the some remainder in each case.

87, 143 &3 227 oD, IBIDB Beg Joad b
B0 HBAO 2B00T B3 BFTHTY BoR) TeRT,

DB IS.
a) 29 b) 20
) 26 d) 28

Model 2 Find LCM

1) The least number, which is a perfect square and is
divisible by each of the numbers 16, 20 and 24, is

88 Bosl, ¥WD BOFeee BrFmNS D) 16, 20 DI

24 RBoadr9oB PN WSS
a) 14400 b) 6400
¢) 3600 d) 1600

2) The traffic lights at three different road crossings
change after 24 seconds, 36 seconds and 54 seconds
respectively. If they all change simultaneously at

10 :115 : 00 AM, then at what time will they again
change simultaneously?

oD DT OF HHINTYOR 39d5° Beadnwd
3N 24 FBordriwy, 36 JIFoRdnw DR 54
JZorn¥ Jo38T wBrHES. exsdwde 10 : 15 : 00
AM 8, 5852080 wBUIBT, Wrea FDDBO TD

DE 98500BO WBUIHSIT?

a)10:22:12 AM b) 10:17:02 AM
c)10:18:36 AM d) 10:16:54 AM

3) A, B, C start running at the same time and at the
same point in the same direction in a circular
stadium. A completes a round in 252 seconds, B in
308 seconds and C in 198 seconds. After what time
will they meet again at the starting point ?

A B, C aioagadd z?_sjemoﬁsade.‘)m 2003¢ aaﬁmg 203¢e
TFDADBO D) e BoBTO L HToRTHIST. A
DBJ, 252 JZori¥d, B 308 JBo@dnvd ) C

Pa
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198 TBoBDNYY FperrpdDI33. arexd ISHabd
J0380 BD T9TB0LT BoBTA B3 JeedadrorbEs?

a) 46 minutes 12 seconds
b) 45 minutes

¢) 42 minutes 36 seconds
d) 26 minutes 18 seconds

4) Three bells ring at intervals of 36 seconds, 40
seconds, and 48 seconds respectively. They start
ringing together at a particular time. They will ring
together after every

Swedh Roednw ZhaeN 36 FZoRNRW, 40 IZ0TRWD
D) 48 JIBodri¥ ©@o30BY dort wrHBH!. WID
Al aiai)oi)de‘)m edrt Bor' Sreden T9,BoNDHIIT.

3,8 So3T B 31t dort ez

b) 18 minutes
d) 6 minutes

a) 24 minutes
¢) 12 minutes

5) Four bells toll at intervals 4, 7, 12 and 84 Seconds.
The bell toll together at 5 ‘O’ clock. Find how many
times the bell toll together in 28 minutes and at what
interval they toll together?

4, 7, 12 &) 84 JIBowniv DFo3TBO Toew,
roe3nsb edoees. 5 '0" NBA0T3, e edpeesf wedri.

28 ANV o), 200 3o edoees oy wedrt edoeet
S8 DR Wes DF038VBO wedrt edoeef

SR ZT 20 TR, BoRHBAO?
a) 40 b) 20
¢) 60 d) 30

6) In a School the number of Students in Section A,
Section B and Section C of ninth class are 60, 84, 108
respectively. Due to over load of student in each
class the admin wants to increase the number of
rooms. Find the minimum number of rooms
required, if is each room the same number of
students are to be seated and all of them being in the
same section.

2o wonde STN3aD IJFFF @, IZS* 2 DR
BEN b JwaBeriy Joad FabaeN 60, 84, 108.
B3 SoNAAO JIDBENY TS BeTdowen
JDrBBD BeBRNY Josl o BedTen wobDST.
INB DS 8IF Jodobh BeBBAYRY B3, B3
érad&ainﬁqf)d g3 30&5’601) améamw
BPBDBRY D DB ©ZBTR woe

amﬁdgdde&
a) 21 b) 22
¢ 25 d) 23

Model 3 Basic Formula

1) The LCM of two numbers is 1920 and their HCF is
16. If one of the numbers is 128, find the other
number.

QTR c"\Soaier'h} LCM 1920 =& eln¥ HCF 16.
«‘xSoastriv.,”:‘)m w0 128 eﬁdog", @d@ocb ﬁoaj’esabxig(

30T &HAD.
a)240  b)204  ©)320  d)260

2) The HCF of two numbers is 15 and their LCM is
300. If one of the number is 60, the other is :

QTR ﬁoaiémi’ HCF 15 &) eg)ri¥? LCM 300. 2,02
KSoaS'Zs 60 NI, @d@(oddg( B0 HRAO:

a)75 b) 50 c) 100 d) 65

3) The HCF of two numbers is 23 and the other two

factors of their LCM are 13 and 14. The larger of the
two numbers is :

2B Boad,rtv HCF 23 bx) 0@ty LCM S 230 oo
©03nw 13 B 14. a0B RoaNvd WD
BRBw?

a)299  b)276  ¢)322  d)345
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4) The HCF and LCM of two numbers are 13 and 455
respectively. If one of the number lies between 75
and 125, then, that number is :

aba) LCM gzbaon 13 @b 455. Foal,nive) wot 75
@) 125 8 S 2GS, &8 oo ?

a)91  b)78 0117  d) 104

1) The sum of the H.C.F. and L.C.M of two numbers is
680 and the L.C.M. is 84 times the H.C.F. If one of the
number is 56, the other is:

H.CF 3 3p3 3 o0 c‘doa?zsr'i'é L.CM 680 =&
L.CM. 84 2590 ot.d.05". 20w KSoa:)’zs 56 N33,
‘RRKIQ(OCSJ KSoa?zsoi)Ri& B0 &HABA:

a)84 b)8 «c¢)12 d)9e6

2) A number between 1000 and 2000 which when

divided by 30, 36 and 80 gives a remainder 11 in
each case is

1000 &) 2000 SIS Boss;adw 30,36 D) 80 dod
NN &8 FoBBFBY 11 FeRSY, AeHBTS
a) 1451 b) 1712 ¢) 1641 d) 1523

4) The sum of a pair of positive integers is 336 and
their H.C.F. is 21. The number of such possible pairs
is

200 el PR3, B Fpmerodny eI 336 D)
oYnY H.CF. 21. 003z Joizecd Lrednv Josl
a2 b)4 o3 d)5

5) HCF and LCM of two numbers are 7 and 140

respectively. If the numbers are between 20 and 45,
the sum of the numbers is :

8@ JoadnY HCF aba) LCM gabaaN 7 ahd) 140.
RoadNwb 20 DI 45 8 IBDS |FT, Foi v Ses:

Model 4: addition & Pairs

a)70 b)63 )77 d)56

6) The product of the LCM and the HCF of two
numbers is 24. If the difference of the numbers is 2,
then the greater of the number is

o0 oY LCM D HCF 3 rbeownd) 24.
oy SZIY 2 NPT, Jod Ny BB,
8oH&AO

a3 b6 o4 d)8

7) The sum of two numbers is 84 and their HCF is 12.
Total number of such pairs of number is

QTD KSoaj’zsﬁvé 333 84 D) oYY HCF 12. 0033
KSoaJ”szi) BB WED, 3036’zs
a2 b4 3 d)5

8) L.C.M. of two numbers is 120 and their H.C.F. is 10.
Which of the following can be the sum of those two
numbers ?

9eF.Q.90. ST Foakriwd 120 B wPriv H.CF. 10. B

SYASINVE BRI & o8m Bosi,nv SPTNCBE?
a) 140  b) 60 )80 d) 70

9) Sum of two numbers is 384. H.C.F. of the numbers
is 48. The difference of the numbers is

QVRD 50332@9 33 384. H.CF. KSoa)"éﬁv 48. aSoaS’asrw
663365

a) 100 b) 288 ) 192 d)336

10) The number between 3000 and 4000 which is
exactly divisible by 30, 36 and 80 is

a) 3625 b) 3500

¢) 3250 d) 3600

Model 5: HCF & LCM Ratio

1) The ratio of two numbers is 4 : 5 and their L.C.M.
is 120. The numbers are
Pa
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28R 303367-19 DT3B 4 : 5 DD oYy L.CM. 7) If the ratio of two numbers is 2 : 3 and their L.C.M.
120. Fos. e odrom? is 54, then the sum of the two numbers is
- 0%y ) QVD 3033671%3 oDz 2 : 3 8AZT DD ePIHY
a) 24,30 b) 30, 40 .
¢) 40, 32 d) 36, 20 L.C.M. 54 A3, 3033 o8 30&?{{9 Se3?
a)45 b)5 )15 d)270
2) Three numbers are in the ratio 2 : 3 : 4 and their
H.C.F.is 12. The L.C.M. of the numbers is 8) The ratio of the sum to the LCM of two natural
A ggoa%riw 2 : 3 : 4 9o3BOD3F DD numbers is 7 : 12. If their HCF is 4, then the smaller
e F number is : il
9 - ?
)Y H.C.F. 12. aek.d.00. aioa%m*odd. 53 a”érdﬁ?s woaa"éﬁvé LCM 1 2033 erbmedd 7 :
a) 96 b) 144 ©)192 d)72
12 8RB, oPni¥ HCF 4 sNZT, 238, ﬁoai’?s:
3) Two numbers are in the ratio 3 : 4. If their LCM is a)l2 b)20 c)16 d)8
240, the smaller of the two number is
28R a;ogj'zsm;b T3 3 : 4. Y LCM 240 esAZT, 9) Two numbers are in the ratio 3 : 4. If their HCF is
B Kosd RYS 0lromEs 238 ToAG? 4, then their LCM is
D o Y BR N 20 Bosl,nwh 3 : 4 BHBZIIBODIT. v HCF 4
a)60 b) 100 c) 80 d) 50
N33, eYri¥ LCM
4) The LCM of two numbers is 48. The numbers are a)36 b)48 )42 d) 24
in the ratio 2 : 3. The sum of the numbers is
QD KSO&SZSFN LCM 48. RSoa:?zsﬁ%i) w3 2 : 3.
5033{19 Bp3?
| 2)40 b)28 )32 d) 64
5) Two numbers are in the ratio 3 : 4. Their L.C.M. is
84. The greater number is
o0 oy N wDTeB 3 : 4. vPn¥ L.CM. 84.
AP ded KSO&%?
a) 28 b)21 c¢)24 d) 84
6) Two numbers are in the ratio 3 : 4. The product of
their H.C.F. and L.C.M. is 2028. The sum of the
numbers is
o8 Jodd N D@3 3 : 4. ¥YnY HCF S ev3 3.
DB aef.d.00. 2028. JodRY Sp?
a)86 b)68 )72 d)91l
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